[14] 2.) Choose 2 from the following 3 problems. Clearly indicate your choices.
You may attempt all problems for additional partial credit as discussed in class.

2a.) Give an example of a planar graph, G, with 5 vertices that contains an Eulerian
circuit where x(G) =1 and A(G) = 2.

What is the Eulerian circuit?

A minimal vertex cut for G is

A minimal edge cut for G is . ,

2b.) Give an example of non-planar graph with 7 vertices.

2c.). Give an example of two non-isomorphic graphs with degree sequence [3,2,2,2,1]
where one of the graphs is bipartite while the other is not bipartite.



[10] 3.) Choose 1 from the following 2 problems. Clearly indicate your choice.
You may attempt both problems for additional partial credit as discussed in class.

3a.) .Prove that_ the following 2 graphs are isomorphic. Hint: Start the by
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3b.) Prove that a graph G = (V, E) where V = {vy, ..., v, } is bipartite if and only if

the vertices can be ordered so that the adjacency matrix is of the form (01};’“ OA )
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